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And let him teach, a minor; this is a difficulty - ROWD TIWP 1N

Overview

0797 answered that the Xn»12 follows the ruling of »n"9 (that a 71vP has no 01p) and
when the Xn»721 stated that a NI has no 01p, it meant (not [only] an actual NIRN7,
but rather) a m1vp who is eligible to be j¥nn. The X713 asked, let the Xn»12 teach
explicitly a 71op (why say a niX»» and mean a 71vp). This difficulty remains.

mooIn responds to an anticipated difficulty:!
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Even if the Xn»72 would have mentioned 73u? has no 21p, nevertheless it would

be understood why the ¥n>>72 also teaches us that an n937%99K has no o3p -
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For I would have thought (if the Xn>92 would just teach 71vp, but not n°>119°X) that

it is only a mup, who has a myaw1 stage, that has no 91 (when she is a mvp), however
an N17°8, who has no m11v1 stage should receive a 01p (even when she is a 7vp), therefore the
Xn>>72 teaches us that (even) an N°112°X has no 01p.

nvoIN asks:
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And the >''1is astounded, why did not the X773 answer; the reason the Xn»92 states

nixmn1 instead of 7ivp because the X721 incidentally teaches us, by mentioning nixnn -
LAYV INY ARIANY 1Y NINNN NAN NN TvT

That until when can the daughter be nix»», until she brings two (pubic) hairs.

Summary
n119°K needs to be mentioned even if 7vp is mentioned. Seemingly niX»» can teach

us that a 7791 cannot be R»7A.

Thinking it over

It appears from the X3 that if the Xn>12 would state 73vp (instead of NIxmn), there would be no difficulty. However,
the Xn*>72 also mentions 17X (has no 01p), because she is a 7wp. The apparent question is once we mention 71vp,
why mention P17y, since the reason is the same; they are both miup. nvon addresses this issue.
2 The 7Mn does write 7v1 regarding 03p, therefore we may have assumed that a ‘regular’ girl who has a M1 stage,
receives 01p only when she is a 77¥1 (but not a 711vp), however an N°112°R, who does not have a 711v1 stage should perhaps
receive 0Ip even when she is a i11up. See ‘Thinking it over’.
3 The ®n>"2 by stating naxan teaches us that the ruling is not like >"7 that a 77v1 can be 18mn; rather only a 71vp can be
xnn. It is not clear, however, how we would derive this if the X1°>72 states NIRnA. See 210 ,7A5W *37n, etc.
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moon indicates that it is necessary to mention N°112°X (even if it mentioned mvp),
because we may have assumed that since an n°112°X has no M1 °»°, she should
receive 01p, even when she is a mwp.* At what point would we have thought that she
should receive 01p in her M1vp years, all the time or at a specific time?

4 See footnote # 2.
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